7' & 8' HUSTLER POOL TABLE - NG2515PB & NG2520PB

Spec Sheet

Pocket Sizes for Both Tables
Corner Pockets: 5" across the top upper edge of cushion Level 34" thick CARB certified poly-sealed MDF playing surface
Side Pockets: 5.5" across the top upper edge of cushion

Blended polyester/wool blue felt

K-66 gum rubber cushions

Black matte
cabinet with 4"
wide durable

laminate top ra

‘-.;.a

34" thick CARB certified MDF used @
for all structural components

Metal accent

cabinet trim Y Y
6" metal leg levelers F
ot
\ 5 Pool Table Dimensions
— \ NG2515PB (7’) NG2520PB (8’)

A 87" 96.25"
B 48" 53.75"
C 32" 32"
D 8.5" 8.5"
E 24" 24"
F 59.5" 68.5"
G 36.5" 39.5"

: [
Pockets should be aligned symmetrically in There should be no blemishes or Ball return liners should be firmly
holes and be secured with black staples. Ends discoloration of felt. Rails should be glued in place with NO bubbles or
should not protrude into playing surface. wrapped tightly with no wrinkles and wrinkles.

no gaps where corners meet. 11/13



HUSTLER 7' POOL TABLE - NG2515PB
Parts List

PARTS
#1 NGP5715 #2 NGP57163 | #3 NGP57173 | #4 NGP5722 #5 NGP57183 | #9 NGP5136 | #10 NGP5077
TABLE BODY LEG SIDE LEG PANEL LEG TOP LEG BASE BILLIARD BALLS CHALK
#11 NGP5719 | #12 NGP5135 |#13 NGP5073 | #14 NGP5720
CUE STICK TRIANGLE BRUSH LEG LEVELER

HARDWARE PACK - NGP5721

#6

O

5/16 INCH FLAT
WASHER

#1

N

1-5/8” SCREW

#8

(S

HEX WRENCH

#15

>

LARGE BOLT

#16

1-5/8” FLATSCREW

s

713




HUSTLER 8' POOL TABLE - NG2520PB
Parts List

PARTS
#1NGP5726 | #2 NGP57273 | #3 NGP57283 | #4 NGP5731 | #5 NGP57293 | #9 NGP5136 | #10 NGP5077
TABLE BODY LEG SIDE LEG PANEL LEG TOP LEGBASE | BILLIARD BALLS CHALK
#11 NGP5719 | #12 NGP5135 |#13 NGP5073 | #14 NGP5720

CUESTICK | TRIANGLE BRUSH LEG LEVELER

HARDWARE PACK - NGP5730

#6

O

5/16 INCH FLAT
WASHER

#1

N

1-5/8” SCREW

#8

(S

HEX WRENCH

#15

>

LARGE BOLT

#16

1-5/8” FLATSCREW

s

713




